Calculate the missing number in these calculations.

1. _3_6 11. 8 5
x 4 x 4
21544 33020
-« Note: There are
2. 5_4 12. 3049
. 4 5 no exchanges
20592 6098 shown! You need
3. 2407 13. 7 4 to record these.
x . y 5 (This example is
14442 33820 Ax6=24s0 a 2
4, 2 7 14. 8 1 should be below.
X 5 % 3
11875 25233
5. _5_0 15. 9371
% 3 x _
4500 28113
6. 8715 16. _6_4
x = x 4
43575 18696
7. 35_ 17. 47__
x 2 x 4
7190 18904
8. __68 18. 37
x 4 X 2
12672 7874
9. 4642 19. 10_8
X _ X _
18568 5390
10. 84 20. 6 8
X 3 X 4

25344 27548




Calculate the missing number in these calculations.

11.

1. 5386
x 4

21544

2. 5148
X 4

20592

3. 2407
x 6

14442

4. 2375
x 5

11875

5. 1500
x 3

4500

6. 8715
x 5

43575

7. 3595
x 2

7190

8. 3168
x 4

12672

9. 4642
x 4

18568

10. 8448
x 3

25344

12.

13.

14.

15.

16.

17.

18.

19.

20.

8255
X 4

33020

3049
X 2

6098

6764
X 5

33820

8411
x 3

25233

9371
X 3

28113

4674
A

18696

4726
x 4

18904

3937
x 2

71874

1078
x 5

5390

6887
x &

27548
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